KIEBm#g AR @E TR ES ETHR29FEEFTE(E)
1T EA
(M)
&l =}
FH%E & *
2 18 =}
1 8% |1 &% |1 AEE
35,393,000 XIEthLY
2 #BE |1 wEE (1 whE
0
4 FINA (1 FBUNA [1 A
1,000 FEE£FE
mASE 35,394,000
2 % H
(M)
&l
a FE% i® &
S 18 =}
1 S8E& 1 |8
6,000|ZESEGLY
1 EEE
= 2 EXEE |1 EBE
86,000(HESEEERHE
2 EEE |1 FEE [1 H%£% | 35301,000
Q@IS 1=T4N\ARE 23,607,000 M
GEITEREER] 19,658,000 F
(BT E (FHLR#R) 16,481,000+ (B [F#8) 13,479,000
-7 B1£:8,508,000 & & X A 1,794,000
[AZ2=FANRFDOMBEE] 649,000 [
(IS TLyk-NRIEBMBREZL)
(A2 =F4N\RBIEEINE] 3,144,000 M
[BRATLISG/ AR EFE R GEgEA) ] 156,000 M
QT IR —RE 11,694,000 [
GEfTREEH] 11,219,000 M
GEfT#2%14,730,000M-##BI£2,393,000AEE XA
1,118,000M)
(FEFEEERERE] 475,000 M
3 Flir&E [1 FHE |1 FEE
1,000
A= 35,394,000




